

(Dedicated to the memory of Professor Arthur Erdélyi)

## ON LAPLACE TRANSFORMS AND THEIR APPLICATIONS

By

**R. K. RAINA**

*Department of Mathematics,*

*S. K. N. Agriculture College, Jobner-303328, Rajasthan, India*

and

**C. L. KOUL**

*Department of Mathematics,*

*M. R. Engineering College, Jaipur - 302004, India*

(Received : February 24, 1978, in revised February 5, 1979)

### ABSTRACT

In this paper a theorem concerning the Laplace transform of the product of the  $H$ -function of Fox and a suitably chosen function  $F(x, t)$  is established. This theorem is then used to establish another theorem concerning certain fractional integrals. Applications of these theorems are capable of yielding a number of known and new results by choosing the various functions and parameters suitably.

### 1. Introduction

The Laplace transform of a function  $f(z)$  is defined as

$$(1.1) \quad L \left[ f(z) ; p \right] = \int_0^{\infty} e^{-pz} f(z) dz, \quad \operatorname{Re}(p) > 0.$$

The Riemann-Liouville fractional integral of order  $q$  is given by

$$(1.2) \quad I_y^q \left[ f(z) \right] = \frac{1}{\Gamma(q)} \int_0^y (y-z)^{q-1} f(z) dz, \quad \operatorname{Re}(q) > 0.$$

The  $H$ -function of Fox [4, p. 408] is defined and represented in the following form :

$$(1.3) \quad H_{P,Q}^{M,N} \left[ z \left| \begin{array}{l} (a_j, \alpha_j)_{1,P} \\ (b_j, \beta_j)_{1,Q} \end{array} \right. \right] = \frac{1}{2\pi\omega} \int_L \theta(s) z^s ds,$$

with  $\omega = \sqrt{-1}$  and

$$(1.4) \quad \theta(s) = \frac{\prod_{j=1}^M \Gamma(b_j - \beta_j s) \prod_{j=1}^N \Gamma(1 - a_j + \alpha_j s)}{\prod_{j=M+1}^Q \Gamma(1 - b_j + \beta_j s) \prod_{j=N+1}^P \Gamma(a_j - \alpha_j s)}$$

where an empty product is interpreted as unity,  $L$  is a suitable contour and the integers  $M, N, P, Q$  satisfy  $0 \leq M \leq Q, 0 \leq N \leq P$ . The coefficient  $a_j$  ( $j=1, \dots, P$ ) and  $\beta_j$  ( $j=1, \dots, Q$ ) are all positive.

In the sequel, we also require the  $H$ -function of two variables which was defined earlier [8, p. 117]. The notation used here for representing this function is a slight variant of the one given by Srivastava and Panda [13, p 266, Eq. (1.5)] :

$$(1.5) \quad H \left[ \begin{matrix} \begin{matrix} o, n_1 : m_2, n_2 ; m_3, n_3 \\ p_1, q_1 : p_2, q_2 ; p_3, q_3 \end{matrix} \\ \left[ \begin{matrix} x \\ y \end{matrix} \right] \end{matrix} \right. \\ \left. \begin{matrix} (a_j : \alpha_j, A_j)_{1, p_1} : (c_i, \gamma_i)_{1, p_2} ; (e_j, E_j)_{1, p_3} \\ (b_i : \beta_i, B_i)_{1, q_1} : (d_j : \delta_j)_{1, q_2} ; (f_i, F_i)_{1, q_3} \end{matrix} \right] \\ = \frac{-1}{4\pi^2} \int_{L_1} \int_{L_2} \theta_1(s) \theta_2(t) \theta(s, t) x^s y^t ds dt,$$

where

$$(1.6) \quad \theta(s, t) = \frac{\prod_{j=1}^{n_1} \Gamma(1 - a_j + \alpha_j s + A_j t)}{\prod_{j=n_1+1}^{p_1} \Gamma(a_j - \alpha_j s - A_j t) \prod_{j=1}^{q_1} \Gamma(1 - b_j + \beta_j s + B_j t)}$$

and  $\theta_1(s)$  and  $\theta_2(t)$  are the  $\Gamma$ -quotients analogous to the quotient  $\theta(s)$  in the equation (1.4) involving appropriately the parameters of the second and third sets, respectively. The contours  $L_1$  and  $L_2$  are suitably defined and the integers  $n_j, p_i, q_i$  ( $i=1, 2, 3$ ),  $m_j$  ( $j=2, 3$ ) are such that  $0 \leq n_1 \leq p_1, q_1 \geq 0, 0 \leq m_j \leq q_j$ .

The coefficients  $A_j, B_j, E_j, F_j, \alpha_j, \beta_j, \gamma_j, \delta_j$ , are all positive. The conditions of existence of the functions defined in (1.3) and (1.5) are given in [5, p. 597, Eqns. (3.1) to (3.6)] and [8, p. 119, (i) to (vi)]. We assume that these conditions are satisfied by the different  $H$ -functions occurring in this paper.

### 2. Main Results

**Theorem 1.** Let

$$(2.1) \quad F(x,t) = \sum_{n=0}^{\infty} C_n f_n(x) t^n,$$

where  $f_n(x)$  is a polynomial of degree  $n$  in  $x$ .

Then

$$(2.2) \quad L \left[ z^{\lambda-1} (1-z)^{\mu-1} H_{P,Q}^{M,N} \left[ yz^\sigma \left| \begin{matrix} (a_i, \alpha_i)_{1,P} \\ (b_j, \beta_j)_{1,Q} \end{matrix} \right. \right] F(x, z^\alpha (1-z)^\beta t; p \right]$$

$$= p^{-\lambda} \sum_{n=0}^{\infty} C_n f_n(x) \frac{(t p^{-\alpha})^n}{\Gamma(1-\mu-\beta n)}$$

$$H_{1,0:1,1; P,Q}^{0,1:1,1; M,N} \left[ \begin{matrix} -p-1 \\ y p^{-\sigma} \end{matrix} \left| \begin{matrix} (1-\lambda-\alpha n; 1, \sigma) : (\mu+\beta n, 1) ; (a_i, \alpha_i)_{1,P} \\ \text{---} ; (0,1) ; (b_j, \beta_j)_{1,Q} \end{matrix} \right. \right],$$

provided that

$$Re(p) > 0, Re[\lambda + \sigma(b_i/\beta_i)] > 0 \quad (i=1, \dots, M),$$

$$\sigma > 0, \alpha, \beta, \mu \geq 0 \quad (\alpha, \beta \text{ being not zero simultaneously})$$

and  $F(x,t)$  is such that the left-hand side of (2.2) exists.

**Theorem 2.** Let  $F(x,t)$  be as given by (2.1).

Then

$$(2.3) \quad I_y^q \left[ z^{\lambda-1} (1-z)^{\mu-1} H_{P,Q}^{M,N} \left[ az^\sigma \left| \begin{matrix} (a_i, \alpha_i)_{1,P} \\ (b_j, \beta_j)_{1,Q} \end{matrix} \right. \right] F(x, z^\alpha (1-z)^\beta t) \right]$$

$$= y^{q+\lambda-1} \sum_{n=0}^{\infty} C_n f_n(x) \frac{(ty^\alpha)^n}{\Gamma(1-\mu-\beta n)}$$

$$H \left[ \begin{matrix} 0, 1 : 1, 1 ; M, N \\ 1, 1 : 1, 1 ; P, Q \end{matrix} \left[ \begin{matrix} -y \\ ay^\sigma \end{matrix} \left| \begin{matrix} (1-\lambda-a n; 1, \sigma) : (\mu+\beta n, 1) ; (a_j, \alpha_j)_{1,p} \\ (1-\lambda-q-an; 1, \sigma) : (0, 1) ; (b_j, \beta_j)_{1,q} \end{matrix} \right. \right] \right]$$

provided that  $Re(q) > 0$ ,  $Re[\lambda + \sigma(b_i/\beta_i)] > 0$  ( $i=1, \dots, M$ ),  $\sigma > 0$ ,  $\alpha, \beta, \mu \geq 0$  ( $\alpha$  and  $\beta$  being not zero simultaneously) and  $F(x,t)$  is such that left-hand side of (2.3) exists.

**Proofs :** To prove (2.2), we substitute for  $F(x,t)$  from (2.1) into the left-hand side of (2.2), use [5, p. 600, Eqn. (4.7)], take the Laplace transform term-by-term, and apply [8, p. 122, Eqn. (2.2)]. To prove (2.3), we use the convolution property of the Laplace transforms [3, p. 131, Eqn. (20)], take the inverse Laplace transform of the right-hand side of (2.2), term-by-term with the help of [8, p. 122, Eqn. (2.2)], and invoke (1.2).

### 3, Applications

(a) *Special case of Theorem 1 :*

If in Theorem 1, we take  $\alpha=1, \beta=0, C_n=(n!)^{-1}$ ,

$$f_n(x) = {}_{u+1}F_v \left[ \begin{matrix} -n, (a'_u) \\ (b'_v) \end{matrix} ; x \right],$$

so that from [12, p. 233, Eqn. (13)], we have

$$(3.1) \quad F(x,t) = e^{xt} {}_uF_v \left[ \begin{matrix} (a'_u) \\ (b'_v) \end{matrix} ; -xt \right]$$

then (2.2), with these substitutions, gives

$$(3.2) \quad L \left[ \begin{matrix} \lambda-1 \\ z \end{matrix} (1-z)^{\mu-1} \begin{matrix} M, N \\ H \\ P, Q \end{matrix} \left[ \begin{matrix} (a_j, \alpha_j)_{1,p} \\ (b_j, \beta_j)_{1,q} \end{matrix} \right] e^{tx} \right] \\ {}_uF_v \left[ \begin{matrix} (a'_u) \\ (b'_v) \end{matrix} ; -xtz \right] ; p \right]$$

$$\frac{p^{-\lambda}}{\Gamma(1-\mu)} \sum_{n=0}^{\infty} {}_{u+1}F_v \left[ -n, \begin{matrix} (a'_u) \\ (b'_v) \end{matrix}; x \right] \frac{(tp^{-1})^n}{n!} \times$$

$$\frac{0, 1 : 1, 1; M, N}{H} \left[ \begin{matrix} -p^{-1} \\ yp^{-\sigma} \end{matrix} \middle| \begin{matrix} (1-\lambda-n; 1, \sigma) : (\mu, 1); (a_j, \alpha_j)_{1, p} \\ : (0, 1); (b_j, \beta_j)_{1, q} \end{matrix} \right].$$

On applying [5, p. 600, Eqn. (4.6)] and [6, p. 124, Eqn. (3.6)],

putting  $\mu=1$ , using [8, p. 122, Eqn. (2.2)], replacing  $t$  by  $pt$ , and  $y$  by  $yp^\sigma$ , we are led to special cases of [13, p. 267, Eqn. (2.1)] and also of [11, p. 302, Eqn. (2.2)].

**(b) Special cases of Theorem 2 :**

1. On letting  $y \rightarrow 1$ , using [1, p. 215, Eqn. (1)], putting  $a = \mu = 1, \beta = 0$  in Theorem 2, it reduces to [9, p. 187, Theorem (2.1)].
2. On setting  $a = 0, \beta = 1$ , in Theorem 2 and choosing  $f_n(x)$  and  $C_n$  as in (a) above, expressing the  ${}_uF_v$  function and the exponential function as power series, and putting  $\sigma = 1, M = N = P = Q = 1, a_1 = 1 - v, \alpha_1 = 1, b_1 = 0, \beta_1 = 1$ , therein, it gives on replacing  $a$  by  $a/y$ .

$$(3.3) \quad \sum_{n=0}^{\infty} {}_{u+1}F_v \left[ \begin{matrix} -n, (a'_u) \\ (b'_v) \end{matrix}; x \right] F_1(\lambda, 1-\mu-n, \nu; \lambda+q; y, -a) \frac{t^n}{n!}$$

$$= e^{at} \sum_{n, r=0}^{\infty} \frac{(a'_u)_n (-xt)^n (-yt)^r \Gamma(\lambda)_r}{(b'_v)_n (\lambda+q)_r r! n!} F_1(\lambda+r, 1-\mu-n, \nu; \lambda+r+q; y, -a)$$

If we put  $\lambda = \beta, \lambda + q = \delta, u = v = 1, a'_1 = \alpha, b'_1 = \gamma, \mu = 1, v = 0$  and let  $a \rightarrow -y$ , then (3.3) yields [10, p. 473, Eqn. (20)].

3. Lastly, if in Theorem 2, we take  $f_n(x) = L_n^{(\nu-n)}(x), C_n = 1$ , so that from

$$[2, p. 189, Eqn. (19)], F(x, t) = (1-t)^\nu e^{-xt},$$

and put  $a = 1, \beta = 0$ , then on proceeding as before, we get

$$(3.4) \quad \sum_{n=0}^{\infty} \frac{(-xt)^n}{n! \Gamma(-\nu)} \frac{0, 1 : 1, 1; M, N}{H} \left[ \begin{matrix} t \\ a \end{matrix} \middle| \begin{matrix} (1-\lambda-n; 1, \sigma) : (1+\nu, 1) \\ 1, 1 : 1, 1; P, Q : a \end{matrix} \right]$$

$$\left. \begin{matrix} (1-\lambda-n-q; 1, \sigma) : (0, 1); \\ (a_j, \alpha_j)_{1, p} \\ (b_j, \beta_j)_{1, q} \end{matrix} \right]$$

$$= \sum_{n=0}^{\infty} L_n^{(\nu-n)}(x) H_{P+1, Q+1}^{M, N+1} \left[ a \left| \begin{matrix} (1-\lambda-n, \sigma), (a_j, \alpha_j)_{1, P} \\ (b_j, \beta_j)_{1, Q} \end{matrix} \right. \right] t^n.$$

For  $\sigma=1$ ,  $M=N=P=Q=1$ ,  $a_1=1-\gamma$ ,  $\alpha_1=1$ ,  $\lambda=\beta$ ,  $\lambda+q=\delta$ .

$b_1=0$ ,  $\beta_1=1$ , (3.4) reduces to

$$(3.5) \sum_{n=0}^{\infty} \frac{(\beta)_n}{(\delta)_n} F_1(\beta+n, -\nu, \gamma; \delta+n; t, -a) \frac{(-xt)^n}{n!}$$

$$= \sum_{n=0}^{\infty} \frac{(\beta)_n}{(\delta)_n} L_n^{(\nu-n)}(x) {}_2F_1(\beta+n, \gamma; \delta+n; -a) t^n.$$

if we let  $a \rightarrow 0$ , (3.5) corresponds to [7, p. 57, Eqn (4.11)].

### ACKNOWLEDGEMENTS

The authors wish to express their sincere thanks to Prof. H. M. Srivastava for his kind and valuable suggestions which led to the present form of the paper.

### REFERENCES

- [1] A. Erdélyi et al., Higher Transcendental Functions, Vol. 1, McGraw-Hill, New York, 1953.
- [2] A. Erdélyi et al., Higher Transcendental Functions Vol. 2 McGraw-Hill, New York, 1954.
- [3] A. Erdélyi et al., Tables of Integral Transforms, Vol. 1, McGraw Hill, New York 1954.
- [4] C. Fox, The  $G$  and  $H$  functions as symmetrical Fourier kernels. Trans. Amer. Math. Soc. **98** (1961), 395-429.
- [5] K. C. Gupta and U. C. Jain, The  $H$ -function. II, Proc. Nat. Acad. Sci. India Sect. A **36** (1966), 594-609.
- [6] S. P. Goyal, The  $H$ -function of two variables Kyungpook Math. J. **15** (1975), 117-131.
- [7] N. A. Halim and W. A. Alsalam, Double Euler transformations of certain hypergeometric functions, Duke Math. J. **30** (1963) 51-62.

- [8] P. K. Mittal and K. C. Gupta, An integral involving generalized function of two variables, Proc. Indian Acad. Sci. Sect. A **75** (1972) 117-123.
- [9] P. C. Munot, B. L. Mathur and R. S. Kushwaha, On generating functions for classical polynomials, Proc. Nat. Acad. Sci. India Sect. A **45** (1975), 187-192.
- [10] H. L. Manocha and B. L. Sharma, Summation of infinite series, J. Austral. Math. Soc. **6** (1966), 470-476.
- [11] R. K. Raina, A formal extension of certain generating functions, Proc. Nat. Acad. Sci. India Sect. A **46** (1976), 300-304.
- [12] H. M. Srivastava, A class of generating functions for generalized hypergeometric polynomials, J. Math. Anal. Appl. **35** (1971), 230-235.
- [13] H. M. Srivastava and R. Panda, Some bilateral generating functions for a class of generalized hypergeometric polynomials, J. Reine Angew. Math. **283/284** (1976), 265-274.